
Φυσική Γ´κατεύθυνσης

ΚΥΜΑΤΑ
ΘΕΜΕΛΙΩΔΗΣ ΕΞΙΣΩΣΗ ΚΥΜΑΤΙΚΗΣ 

υ= Τ
λ =λ·f

ΕΞΙΣΩΣΗ ΚΥΜΑΤΟΣ

ψπηγής(χ=0)=Α·ημωt=Α·ημ Τ
π2

t=A·ημ2πft

ψ=Α·ημ[ω(t-tκαθ)]=Α·ημ[ω(t- υ
χ

)]=A·ημ[ Τ
π2

(t- υ
χ

)]=

    A·ημ[2π(T
t

- Τυ
χ

)]=Α·ημ[2π(T
t - λ

χ )]=A·ημ[2π(f·t- λ
1

·χ)]

ΣΥΜΒΟΛΗ ΚΥΜΑΤΩΝ
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ενίσχυση  (Α’=2Α):    r1-r2 =   Ν·λ ,          Ν=0,±1,±2,…

απόσβεση(  Α’=0 ):    r1-r2  = (2Ν+1)· 2
λ  ,  Ν=0,±1,±2,…

ΣΤΑΣΙΜΟ ΚΥΜΑ
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κοιλίες(Α’=2Α):   χ = κ· 2
λ  ,          κ=0,1,2,…

δεσμοί ( Α’=0  ):   χ = (2κ+1)· 4
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ΗΛΕΚΤΡΟΜΑΓΝΗΤΙΚΟ ΚΥΜΑ
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νόμος Snell:                   na· ημθα = nb·ημθb  
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